Multiple Choice Questions
(38 fasedia ueA)
1. Which is represented a linear inequality. 1.
38 @ 39 s Ngd e |
(a) 5Sx+3=4x-4 (b) ax+b=c
(c)3x+5=7 (d 3x+2>5
2. If5x <20 then x......4. 12.
Ifg 5x <20 &, 4l x.....4.
(@) > b <
(c) > d <
3. If -3x > 9 then x.....-3.
gfe -3x>9 8l dl x....-3.
(a) > (b) <
(©) = d =
4. If x > -3, then -2x.....6. 13
Ife x> -3 8l d@l -2x.....6.
(a) > by <
(0) < (d >
a b
5. Ifa<bandc<0theng ..... o
afy a<bolR c<ogl, @t 2.0 y
(a) > (b < ’
(c) > (d <
6. If p - q = -3 then p......q.
g p-q=-381, A pe.yg.
(a) > (b) <
(©) = (d <
7. If x € N. then the solution of 5x <24 is 15
5x <24 ®T 8 @, df§ x €N.
(a) {1,2,3,4,5} (b) {1,2,3}
(©) {1,2,3,4} (d) {2,4,6}
8. If x € N. then the solution of 30x < 24 is
30x <24 &1 ga 8N, AfT x € N.
(a) {1.2,3.456)  (b) {1,2,34,5} 16.
(©) {2,3.4,5,6} (d) {6,7,8,9,10}
9. If x € R, then the value of |x| >4 is.
Ife x €R, 8 @ |x| >4 &T 94 =:
(a) 4<x<4 (b) x>4
(©) x<4 @ ]-o.[U40f 1T
10. Ifx € R then the solution of |x| <2 is.
Ife x €R, & dl |x| <2 BT & &
WHEMT-11 (TOTA)

eI - 5

Linear Inequality

(@) 2<x<2 (b)
(c)x<-2 (d)
if -3x + 17 < -13 then.
afe 3x+17<-13 8, ar |

(a) x € (10,0) (b) x € [10,00)

(c) x € (-00,10) (d) x € (-10,10)

In the given figure, the interval at which the
value of x lies is.

feu W@ o ¥ x &1 9 69 Iavra o
Rera 21

x>2
]-00,-2[U]2,00]

<€ >
-2

(@) x € (-00,-2) ()  x € (-00,2]

(c) x € (-2, 00] (d) xe[-2, )

If |x-1| > 5 then.

afe |x-1) >3, at

(a) x € (-4, 6)

(b) x € [-4, 6]

(¢) x € (-0,-4) U (6, )
(d) x € [-00,-4) U [6, 0)
If |x+ 3| > 10 then.

afe |x+3| > 1031, ar
(a) x € (-13,7]

(b) x € (-13,7)

(¢) x € (00, -13] U [7, o)
(d) x € [-00, -13] U [7, )

|z + 7|
(1'_7) Z()then

afr 2T S0 @ @

(z=17)

(a) x € [7, ) (b) x € (7, )

() x€(-0,7)  (d)x€&(-0,7)

If 4x + 3 < 6x + 7, then x belongs to the interval.
IfT4x+3<6x+7, 8, Al x axra ¥ Rera
BT |

(a) (2, ) (b) (=2,0)

(¢) (-0.2) (d) (—4,00)

Solving — 8 <5x -3 <7, we get.
~8<5x-3<7,®l g B¢ W B Y Bl & |

(@) —5 <x<2 (b)) 1<x<2

If




() -1=x<2 (d)-1<x<2 IfE 2<2x—1<28 A x ST A4 F<RIA d
18. ax-+b>cis...ue. BT
ax+b > [ PP % I (a) <L i) (b) <_L i)
(a) double inequality (f§—3rafHanT) 2°2 2°2
(b) quadratic inequality (fEeTi 3rafHeT) (c) <3 1 > (d) (%, —%)
(c) numerical inequality (T 3TAHD) 43
(d) Linear inequality (RRaa 3rafira) 26.  The solution of the 12 < —— X <2is
19. Ifx>yandy>z then. 12< A2 <) wrEa @
Ifg x>y iR y>z a9 56 14 =56 —14
() x>z (b) x<z @5 x=3 O 7y ey
(c)x=0 (d) y=0 (c)&< <—% (d) _TS’6<X<%
20, If7x+3<5x+9thenxc x+4
Af Tx+3<5¢+9 a9 x © 27. T)lcuisi)lutlonofthe 6 >1,xeR
(a) (-00. 3] (b) (-0, 0) T 1 xER @I EA &:
(c) (-0, 3) (d) [3, ) (a) (—00,-6) (b)  (-00,-4)
2. If-5<5 —2X<8 then x& (¢) [0, 6] (d)  [4.6]
3
afg -5<5 —TXS 8 a9 xe 28.  The solution of the inequality
3(x—2 52—
@ |43 ) (5,5) (25 3B
3(x—2 52—
O || @ oo araftrar 0D = SC Y g g g
22. If1<|x—2|<3thenxe (a) x& [2, ) (b) x& (2, )
Ife 1 <jx-2|<3dd xe (¢) x€ [-2, o) (d) X€ [00,2)
(@) [-1, 5] (b)  [-1, 1JU[3,5] 29.  The solution of lnequatlon 3 <2,xcRis.
© CLOUES) @ (L9) srafirar 274 <2, ceR o1 g &
23.  Which of the following statements in correct? Eg ((3“’1’3]) Y (10, )
(a) If x>y and b <0 then bx < by. ()(_;o 3) U [10, 00)
(b) If x>y thenx >0 and y <O0. ¢ .’ o
(C) Ifxy >0 then x> 0 and y > 0. (d) s_"rﬁ[ @— Eﬁg q%)[ (NOI’IG ofthere)
(d) All of these. 30. If|3x+2|<1,x € R then the value of x lies in
e o a9 |1 due w27 the interval.
(a)aﬁx>y3ﬁ?b<06'srbx<by. ?Tﬁ{|3x+_2|<1,x€R§,?ﬁx?ﬂTﬂ7l
(b) I x>yTax>03Ry<0. o EIlIEIﬁ Rera g — i
(c) IR xy>0Tax>03Ry>0. (@) (-1, _*) ) [~ 1‘@]
(d) SURTaT T (¢) (-0, -1) (d) (=3, )
—2
24. If {55 >2thenxe 31.  The solution of inequality [2x — 3| < [ + 2,
Xx—2 x€Ris
R 52 e NPT [2x— 3| < |x + 2|, xER BT &A BNIT—
(@) (-12, 5) ®  (12,-5) e =3 < v 2l xeR atEet
’ ’ (a) <—oo i) ® (L5)
(c) (-5,12) (d (5,12 3 3
1
5, 00 d (— , 7 U5,
25. If-2 <2x—1 <2 then the value of x lies in the © ) @ 020 3 ) (5, )
interval. 32. The solution of inequality x—4] >1,x#4
WH&T-11 (MO —=




will be - , (a) (4, ) (b)  (-c0,4)
SRIECal Tx_4] > Lx#4 @& BT (c) (00, 4] (d) [0, 4]
(a) (2, 6) (b) (2,4)U (4, 6) 41. If2(2x+3)-10<6 (x-2), x&R then x&
(c) (~00,2)U(6, ) (d) none of these afs 2 (2x+3)-10<6 (x-2), xER & ql x€
! (a) [4, o] (b) [-4, ]
33. The solution of inequality 0 <|3x+ 1| < 7, (c) [-o0, 4) (d) (4, )
WW0<|3x+l|<%,x€R?FrEHETTﬂ— 42. If-2< X<7,x€ R then the value of
4 o x lies in the interval.
(@) (_3’_3> afy —2< 0% <7, xe R Al x
(b) [—%,—% fra sravrer § Rera 2—
4 2 1 14 14
© (-4-2)-{-% @ (= 22) ) (=)
4 2 1 22 14 22 14
@[-5.-3]-{-3] 0 T
Ix—2| 43. The solution of 3 (1 —x) <2(x +4),x € Ris-
34. The solution of inequality N < 0 will be- 3(1-x)<2(x+4),x € RHT & 2—
[x=2] ) & — (a) (— 1, o) (b) (1, o)
Xx—2 gdl
(@) (2, ) b) (oo 2) (c) [-oo, 1] (d)  none of these
(© R @ (2.2 ¥ @l T
35.  Which of these are numerical inequality? 44.  The solution of Sx—11<7x-5<9,x ER
fret ¥ ¥ 3l e s 27 >
(a) x>2 (b) x+y<2 Sx—11<7x-5<9,x € R¥I &1 2
(c)2<5 d x>3 (@ (=3,2) b [-3,2)
(¢) [-o0,—3]U(2, ) (d) none of these
36. Which of these are the example of literal =7 3 P T8
inequality.
o ¥ 3 wifas /a)i® IaIST BT 45. The solution of |5 -2x| <3, x € Ris-
(a) x>3 b) 2>1 (a) (1,4] (b) [1,4]
(c)3<7 (d)  None of these (c 11,41 (d) none of these
' BEll
37. Identify the example of double inequality T @I
: Short Answer Type Questions
fe—srifiaT & ITEWT B UEA BR— Very yp
3rfar I g
(a)x>y (b) 0=<x<2 ( pE )
(©)x+y>2 d) x+7>2 1. Solve 24x < 100, When x is a natural number.
38. Which of these are not strict inequality- 24x < 100 T & PX, 9 x TP < 8l
o & ot gfiea smafer @ 32— 2. Solve —12x > 30, When x is an integer.
(@) 3x+2>0 (b) 2x—y<0 ~12x>30 & A PN, 99 U@ YOI 2 |
(B3x+7y< 8 (d) 3y+8<0 3. Solve 4x — 1> 7, When x is a real number.
39. The solution of 6 <-3 (2x - 4) <12, x€R is- 4y —1>7 T & BN, 54 x U dRcIID T & |
6<-3(2x-4)<12,xER BT BT 28— ,
(@) x € [0, 1] () x € [0, 1) 4, Solve 2x — 8 < 5, When x is a natural number
(C)XE(O,I] (d)xE(O,l) 2x—8§5ﬁ%ﬂﬁ,mxwwwél
40. The solution of (2 —x) > 2(1 —x), x€R is- 5. Solve 5x +4 <x -5 whenx € Z.
(2 %) >2(1 -x), xER BT B B— S5x+4<x—5® T B, 9 x € Z.
FefT-11 (0T —




6. Solve 6x — 5 > 4x + 1, when x is real number. (36) a (37) b (38 ¢ (39) ¢ (40) ¢
6x —5>4x+ 1 H TA BN, 99 x Ud addd (41) d (42) ¢ (43) a (44b (450D
&7 2 | Very Short Answer Type Questions

arfar AT g

7. Solve(®d fpfdg) 3 > 5 +1 S )

8 Solve the inequality— 3 <3 - 2x<9,x € R. and 24x <100, x € N
represent the solution set on the real line. [ﬁ_;"’th side divided by 24 ]

i 24x 100 TP 24 ¥ 9T o W
IAMAPT —3 <3 —2x <9 BT & BN, x € R A=A =51 <
¥ BT Pl HET T WX 3MIRad HIRTY | :>x<%5=4-16, xEeN

9. Solve |x| < 2 and represent, the solution set on the .’ x is a natural number (x U UTehel T %)
number line. SLx=1234
SNAMH®T x| < 2 BT &A PN, TAT 39 8 DI .. The solution set = {1,2,3,4}

H=T X W ITeARad dIfoy | ST BT A T = {1,2,3,4}
10.  Find all pairs of Consecutive odd positive Gi
that
integers both of which are samller than 10 such 11\/2€n at (fea 9)
that their sum is more than 11. N _x1;x30, 3362 -
10 3 B BHNTA fAvH Gl & W g | =T ST1a Y€ i e
Short Answer Type Questions X -2,-1,0,1,2
(erg STE 9¥) The solution set = {......, -5, —4, -3}
1. Solve: (81 ®RMT) [x+2|> 3, x € R, STAIHPT BT el G = {.ovo =3, 4 3]
+3 Given that (fSaT 8)
2. Solve : (8 BIfSTY x—>0, € R.
( ) x;;i . 4x—-1>7, x€ER
X i on si
3. SOlVC:(W@@Q)m>1,xER. Ay 141> 741 [ﬁl%l%d;}
. 3 = 4x>38
4. SOIVG . (ET’T E|§ 3 Q) x—2 > 2, x€ R. [aﬁ:ﬁd'ividingboglsidebé}%4 j|
- TH 4 | 9T o R
5. Solve : (8 HIAY) x+g<0,x€R. = x=2
i‘ ; | ;. XE [2, )
X
. a'ﬁ-f\;ﬁq — 2 4+ > (v —
6. Solve: (& ) 2( 5 4> -3 (x=6) Given that (f&aT 8)
7. Solve : (8a #IM) 5> (5’6;2)—(7’65_3) 2x—8<5, xEN
adding 8 on both side
8. Solve: (81 #If¥) = 2x-8+8<5+8, x€ aﬁmsvﬁeﬁw}
(2x—1) _ Bx—=2) 2-x = 2x<13, x€N
3 = 4 5 13 dividing both side by 2
5 =>x§7—6.5, XEN%HTWZQ?HW&?T\]
9. Solve (&« 3IR) [x—3| >5,x ER so that solution of given inequalty are 1,2, 3,4, 5, 6
. The solution set (AT BT Az Bel) =
Answer key STIXHTAI
SIWELSEY (1,2,3,4,5,6)
Multiple Choice Questions Given that (ﬁ?ﬂ g\)
(g fameda ue) Sx+4<x-5, x€Z

M d @b 3 b #Hb (5 a - Sxtdmx<x-S-x BTG e

©6) b (7 c (8 a 9 d (10) a

(1) a (12) b (13) ¢ (14 c (15 b = 4x+4 <=5, x€Z

(16) b (17) ¢ (18) d (19) a (20) ¢ ‘a4 e |isubs.tract40n both sidﬂ

@) a (22 b (23 d (@49b (25 b = detd-4<-5-4, XEZ| ot v 4 e

26) d (27) a (28) a 29) ¢ (30) a dividing both side by 4 }

B b (32) b (33) ¢ BHb (35 ¢ = 4x<-9, x€Z Ul G 4 ¥ AT G W)

WH&T-11 (MO —




XEZ
= x<-225 x&Z

so that the solutions of given inequalty are

= x< —%’

X=...=3,-2
. The solution set (3THfAT BT T Bel) =
{3, -2}

Given that (f&aT 8)

6x—5>4x+1, x€R
o 6x—5—dy>dy+ 14y Etgg;cgggﬁ‘*ixoggzgﬂ
= 2x-5>1

When (W) x <0 = |x|= —x

= -x<2

=>x> -2 — 2

from eq (1) and (2) we, get

BT (1) 3R (2) &

—2<x<2

Txe]-2,2]

Representation of the solution set on number line-
< | & | | | & | >

- o T T -
-3 2 -1 0 1 2 3

adding 5 on both side 10.  Letx be the smaller of the two consecutive odd
:>2x—5+5>1+5[aﬁ:ﬁaqq;5\—,ﬁgﬁq—\] +ve integers.
= 2> 6 .. The other integer = x + 2
divide 2 in both side .". Both the integer are less than 10.
= x>3, x€R QA TR® 2 W AT I W S x+2<10
x€ (3, ©), xER = X< i (1)
Also
Given that (f&aT ©) X+ (x+2)>11
X x = 2x+2>11
37271 = 2x >9
o . 9
Y 2x>3x 46 Eﬁ%uhagggggg%%w} = x> 5 =45 (ii)
) } eq (i) and (ii), we have,
subtracting 6 on both mde]
= 2x-6>3x+6-6 TFl TWH 6 M W 5 <x <38, xisa-tveinteger.= x=5,7
= 2x—6>3x X+2=7,9
. . .. numbers are Sand 7, 7 and 9
= 26— 2x>3x—2x E‘;?;?ngéz’z‘f%‘;fﬂ A 6 Ue Y qoife & ST @1 e e
= —6>x HE=Ril | BIeT 2
L x<-06 S ST QUIe =x +2
S XE (~00,-6) . QF guife 10 | BIeT B
Hence, the required solution set is (—00, —6) Lx+2<10
31d: I B AT (—00, —6) & | = X<8 e, (i)
. R x+(x+2)>11
Given that (f3aT ®) x+at2)
3<3_95<9 R = 2x+2 >11
—I=J-ax<Y, x€ = 2x>9
= -3-3<3-2x-3<9-3, x€R 9 .
- _6 < _2x<6, xR =>x>§=4.5 ............................ (ii)
6 -2 _ 6 37 AR (i) 3R (if) ¥, T B & |
= a2, > 2 xER 9 ) .
2 2 3 <x<8, x& D YUIid & = x=5,7
= 3>x>-3, x€R X+2=7.9
= —3<x=3, x€R -, anfiee HETd = 5@k 7, 73R9
x€ (-3,3], x€R ’
Hence, the required solution set is (-3, 3] Short Answer Type Questions
31c: I B A (-3, 3] B | (g )
GiVen that (ﬁ-&n %) 1 GiVen that (ﬁ_{ﬂ %)
x| <2 x+2|>3, x€R
When (579) x>0 = [x| =x We know that (89 ST ® fh)
Ix|>a < x<-aor(d) x>a
WH&T-11 (MO —=




We have,

Sopt2[>3 & x+2 <=3 or (A1) x+2>3
=>x<-5orx>1

= x€]—-00 5[ or (A1) x&€] 1,00 [
Solution set=] -0 ,— 5 [U] 1,00 [

Given that (f&aT ©)

 x+3>0and BIR)x—4>0

or (AMx+3<0and RMR)x—4<0

= x>-3and (3R) x > 4

or (AM x<-3and (3IR) x <4

= x>4or(A)x<-3

Then, the solution is x <—3 or (IT) x > 4.

. Solution set (34 & A= ) =
]—00 —3[U]4,00 [

Given that (f&aT 8)

x+7

x+4>1, XER
x+7
= X+4—1>0, xER
x+7—x—4
W>O’ x€R

3
= X_|_4>O, x€R

. x+4>0, x€R

= x>—-4
. XE (—4, )
Given that (f3aT 8)
xi2>2’ x€ER
o 3 _2>0, xeR
x—2
w>0, ER
X—2
= @ >0, x€R
x—2

. 7-2x>0andx—-2>0

or (AN 7—-2x<03fRx-2<0

= —2x>-T7andx>2or—-2x<-7andx <2
= x<% and x > 2 or x>% and x <2

= 2< x<%

L x<2 x<%['.' x>%andx<2 is not possible]

(Hw1g T8 )

= XE€ (2,%)

He&T-11 (oI

Hence the requied solution is (2,%)
I M Bal= <2,l>

2
Given that (f&aT 8)
x—3
T+ <0, x€eR

= x-3>0and BMR) x+2<0
or (M x—3<0and BR)x+2>0
= x>3andx<-2or(d) x<3andx>-2
[ x>3andx <-2is not possible.]
L x>33R x <2 Fwg L B |
L x>-2andx<3
= 2<x<3
T x €(-2,3)

Given that (f&aT 8)

1(3 1
HE+4)2 L -0

- 3(351+4) >2 (x—6)

- 95—x+12 > 2x—12
Ox

= 5 —-2x>-12-12
Ox — 10x multiplying —1 on both side
= 5 224 |eF @ 19 T B W
_X
= 3 >24
= % <24
= x <120
xX€ (—o0, 120)

Given that (fSaT 8)

- (5x—2) (7x—13)
= 3 - 5
25x—10—21x+9

15

IV ol

X
= 2
x _4x—1
22715
15x>8x 2

Given that (f<aT 8)

(2x—1)>(3x—2) (2—x)
3 = 4 T 5

(2x—1) _ 15x—10—8+4x

= 3 = 20
(2x—1) _ 19x—18

= 3 =20

= 40x —20>57x — 54




= 54 -20> 57x—40x
= 34>17x
= 2>x
orx<2
xE(—o00, 2]

Given that (f&aT ©)

2

x=3] 7
= %>|x—3|
= |x—3|<%

Whenx—-3>0 =x>3orwhenx—-3<0
= x<3
=>x73<%orf(xf3)<%
:>x<%+3or x—3>—%
+

= x< 2 515 orx>3—%
=>x<%0rx> 155_2
=>x<%orx>% ................. (1)
Also x—=3#0 =2x#3 oo (i1)
From equation (i) & (ii) we get

x#3and x < %orx;é3andx>%

= 3<x<%or%<x<3

: 17 (13
e (317)0(12.5)

He&T-11 (oI






